Honors Geometry Homework for Section 9.4

2.
Find the length of the diagonal of a square with perimeter 12 cm.

3.
Find the perimeter of a rhombus with diagonals 12 km and 16 km.
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4,
Find the perimeter of a rectangle whose diagonal is 17 mm long and whose base is 15 mm long.
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5.
Given: JG is the altitude to base FH of isosceles AJFH

Find: JG
J
1
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6.

PM is an altitude of equilateral APKO. If PK = 4, find PM.

P

7.
Find the missing length in the trapezoid
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10.
Use the formula below to find PQ

(hint: d= J(x1 - %2)? + (y1 - Yz)z)

y
N
P(1,8)
Q (13, 3)
< > X
\V4
12.
a. IfAD = 7 & BD = 4, find CD
c
A _
b. IfCD = 8 & DB = 6, find CB
D
B

c. fBC=8&BD =2, find AB

d. IfAC =21 & AB = 29, find CB
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13.

Al Capone walked 2 km north, 6 km west, 4 km north, and 2 km west. If Big Al decides to "go
straight,” how far must he walk across the fields to his starting point?

Start

14.
Find the altitude (length of a segment L to both bases) of the isosceles trapezoid shown.

/N

K 18 2

15.

A piece broke ofﬂectangle ABDF, leaving trapezoid ACDF. If BD =16, BC=7,FD =24, and E is
the midpoint of FD, what is the perimeter of AACE?

A
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16.
Find CD

17.
Find x.

BTW, this is known as the Spiral of Theodorus. It was first constructed by Theodorus of Cyrene (sometime
between 465 BC and 398 BC) and is also known as the Einstein Spiral or the Pythagorean Spiral.

21.

The lengths of the diagonals of a rhombus are in the ratio 2:1. If the perimeter of the rhombus is 20, find
the sum of the lengths of the diagonals.

Baroody Page 5 of 8



Honors Geometry

Homework for Section 9.4

24,
Find the perimeter of ADBC

10

20

25.
a. Find HF

b. Is AEHF - AHGF?

Baroody
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27.

A 25 ft. lon Iaddiaﬁ) is leaning against a wall (PM), reaching a point 20 ft. above the ground (MO).

The Iadder?now PK) is then moved so that JK = 2(PO). Find KM.
P
(0]

25
20
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28.

The medians of a right triangle that are drawn from the vertices of the acute angles have lengths of
2./13 and /73. Find the length of the hypotenuse.
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29.

The diagonals of an isosceles trapezoid are each 17, the altitude is 8, and the upper base is 9. Find
the perimeter of the trapezoid.
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